Part B : Mathematics/Biology :
1.  Suppose f,f',f" are continuous on [0, e] & that and
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Through the focus of parabola V¥=2px (p>0), a line is drawm which intersects the curve at
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A (x,, y)) and B (x,, v,). The ratio Sy equals
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In order to get at least once a head with the probability <(.9, the number of times, a
coin needs to be tossed is

{a) 3 by 4 {c) 5 {d) none of these
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equal to x). The number of points of discontinuity of f(x) are
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The function (%)= Vifers) is

{a) increasing on [0, )

{b) decreasing on [0, <o)
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(¢) increasing on [0,—) and decreasing on
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{d) decreasing on and increasing on
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Let ¢, B be the real roots of the equation x*+Ha-4)xHa?-3a+3) = 0.
If o®+[3?=6, then a =

(a) b 1—«/5 [} ~ 145 (d) 1+4/5
AT o, B T x>Had)x+Ha?3a+3) = 0.
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If 0<a<b, beintegers such that a®+b*= (12322§?§§+—£%C)(52+72), then the sum of all the
values of a is

(a) 120 (b) 124 (c) 156 (d) 168
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A and B be two fixed points whose coordinates are (3, 2) and (5, 4) respectively. The
coordinates of a point P in APB in an equilateral triangle, are
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The equation of the straight line passing through the point (4,3) and making intercepts on
the coordinate axes whose sum is -1 is
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Biology :
1. Inheritance of acquired characters is called |

{a) Lamarckism  (b) Neo-Lamarckism ({c) Mutaticnal theory (d) None of these

(F) vHmaR (9) TEOHmaR (W) ScfEd T faga (R TR AFETE [ ]

In which sub-stage of Prophase-l of Meiosis does synapsis occur ?

{a) Leptenema  (b) Zygonema {c) Pachynema {d) Diplonema

AL FavTT=H =t wem Wi w1 fofhe e § S, T g ?

() A (| SR (|) Yl (T) fewfHm []
Vivipary is characteristic of -

{a) Xerophytes (b) Halophytes {c) Hydrophytes {d) None
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If chromosome number in gynoecium is 12pthen fhe number in endosperm will be -

(@) 18 (b) 36 e 1z d 6
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(31) 18 (d) 36 (9) 12 (T) 6 []
Restriction enzyme is used for cutting -

{a) Proteins (b) RNA {c) DNA {d) Fats
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Which of the following bacteria does not cause disease in humans ?

{a) Vibrio cholerae (b) Salmenella typhii

{¢) Clostridium titani {d Azobacter

T SHaTo S A H A S TE e, qEE -
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Which one of the following is the biggest gland in human body 7
{a) Pancreas (b) Thyroid () Pituitary {d) Liver
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The number of characters studied in garden pea by Mendel were —

{a) Five (b) Three {c) Six {d) Seven
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(a1 5 (@) 3 @ 6 @7 [
Duckbill platypus is -

{a) Flying bird (b} Ratite bird {c) Egg-laying Mammal (d) Reptile
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In a grassland ecosystem, pyramid of numbers is

{a) Upright (b) Inverted {c) Any of the two {d) None of the above
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